
Exponential Transformations Worksheet 

 

 

    4) Write the equation for the function that results from each transformation applied to the base function 

 𝑓(𝑥) = (
1

3
)
𝑥

 

   a) reflect in the x- axis (vertical reflection)   b) stretch vertically by a factor of 3 

 

   

  c) stretch horizontally by a factor of 2.4                    d) reflect horizontally, stretch vertically by factor of 4 

 

 

 

    5) Quickly sketch the following exponential functions by transforming the key points and/or asymptote. 

     a) 𝒚 = 𝟑𝒙−𝟑 + 𝟐  b) 𝒚 = −(
𝟏

𝟐
)
𝒙

  c) 𝒚 =
𝟏

𝟐
(𝟐𝒙) − 𝟑  d) 𝒚 = (

𝟏

𝟑
)
−𝟐𝒙

  



 

 

 

 

 

 

 

 

 

 

     8) Sketch the graph of 𝑦 = 3(
1

2

−
1

2
(𝑥−2)

) − 4 by using 𝑦 = (
1

2
)
𝑥

as the base and applying transformations. 

 


